M & 0l & AF &2 8 M M
20209 = 20l & LS|
2H: HRn
FE: TEA L A+ (L3 HY /XL - HEXE)
el XA St (cte ®
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
T < 1t 3,621,119 2,983,612 637,507
= 97,000
= 3,524,119
ANEA L M+ 2l (LetssHY /NYHY - THE 664,463 478,463 186,000
X&)
= 97,000
= 567,463
XA 2o 273,884 158,449 115,435
KA AAIE 2el 137,630 68,509 69, 121
201  LBt249| 8,359 8,219 140
01 At 2eltl 8,359 8,219 140
= 0ff & 8,359 8,219 140
ogt=2H| 4,409
o2ds+< 2,450
OXNEAM 2H2e 233 Mg (XY
H&AoARE  MAMEHIA 012 AFH)
70,000& +x7H x53| 2,450
OXNLNSIRELN sEEs A3S M 1,500
202 (4 H| 4,800 4,800 0
01 =AYl 4,800 4,800 0
= 0l & 4,800 4,800 0
OEFS2HMAIAN & HAMBEA Y|
20, OOOC>J *39 80 4,800
203 YR F=AH| 2,000 2,000 0
03 A=Y@ EY 2,000 2,000 0
= Ol &t 2,000 2,000 0
o2dAMgd= & MEMES-ZR =2
20,000& x10H 103 2,000
301 etz 5,000 5,000 0
12 JIEtE &3 5,000 5,000 0
= 0ff &F 5,000 5,000 0
O aYMA K& 5,000
303 EZAZ 2,200 2,200 0
01 ZA&Z 2,200 2,200 0
= 0l & 2,200 2,200 0
OXNYM L AA+UEH RSZ2RF 2
50,0003 x4H 200
OCEFRSHMA L2 &= 2,000
306 =3 4,184 4,663 AN479
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TH 2 1t

FE: TEA L A+ (L3 HY /XL - HEXE)
el XA St (cte ®
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
01 =012 4,184 4,663 A 479
=0l & 4,184 4,663 A 479
OXNLNHARA &2HZ 4,184
308 AXHHMS0IH 40,565 41,627 A 1,062
10 SII2SHUEZ&ELAE ALS I 40,565 41,627 A 1,062
= 0l & 40,565 41,627 A 1,062
020204 XYM 2 (2g22l) 40,565
403 XXESHHSAH201H 70,522 0 70,522
02 SJI2SHHEX2E < E A I 70,522 0 70,522
= 0ff &F 70,522 0 70,522
©2020E THMICH XISAEESAIAE 2H(
2CH3) 70,522
NeEA DXM 25 102, 154 89,940 12,214
201 et I| 102, 154 89,940 12,214
01 At 2eltl 21,840 21,840 0
= 0l & 21,840 21,840 0
ogt=2H| 21,840
02 2294l 80,314 68, 100 12,214
= 0l & 80,314 68, 100 12,214
OXNLNIXNN LEE 2B 71,550
OAN4&EH X bl 8,764
OXNgMIDseIM Y SeLHeAAEY
= A2 =l 4,380
OXNgMIOEM Y SSAAE ARE
P Ral E=2 4,384
NEASEN SHAD & 34,100 0 34,100
201 LBt 20,000 0 20,000
01 At 2eltl 19,000 0 19,000
= 0l & 19,000 0 19,000
OZFH AR2EHI 1,500
OXNYLASM HEMA 2 1,500
ocdE L MM == 5,000
o=2dgtl 11,000
02 =29l 1,000 0 1,000
= 0l &F 1,000 0 1,000
o33 1,000
202 Ol bl 2,000 0 2,000
01 SUWAYI 2,000 0 2,000




SN

TH 2 1t

FE: TEA L A+ (L3 HY /XL - HEXE)
el XA St (cte ®
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
= 0l & 2,000 0 2,000
OXNLASH MDA =l L HOTZAL
20,0003 »2H x50 2,000
401 A&BIZE =208 11,000 0 11,000
01 Al&HI 11,000 0 11,000
= 0ff &F 11,000 0 11,000
Osga X At 11,000
405  RHaHFE SHI 1,100 0 1,100
01 &L SSFHSHI 1,100 0 1,100
= 0ff &t 1,100 0 1,100
OUIIEZAHAAEH 1,100, 000& *17| 1,100
NEA 2 Aol 135,473 91,531 43,942
XA &= 37,820 39,280 A 1,460
201 LBt 33,820 35,280 A 1,460
01 At 2eltl 25,440 24,840 600
= Ol & 25,440 24,840 600
NN =58 72
52,0002 708 A 3,640
OZ2MUde =2 X2 400,000& =104 4,000
OMEX AMEHEMHIA Ol24+42 8,000
OMEX tza dNAdFAEA OI2E+2 9,000
OZMEEME AMOIE Ol8= 200
oHg& sJl 5 =2 3,000& *2000H 600
02 25294l 8,380 10,440 A 2,060
= 0l & 8,380 10,440 A2,060
O A& &#Hl= Xl bl 8,380
OXNSENE HSEUHIXANLAE RAES
u]l 390,000& x12& 4,680
OXNEEME HSEIXAAE AMOIE
Hl & 3,700,000& 13| 3,700
202 Ol 4,000 4,000 0
01 =LHofHl 4,000 4,000 0
=0l & 4,000 4,000 0
OMENE+&S 0l 4,000
A TLAz 5,500 5,500 0
303 EA&Z 5,500 5,500 0
01 Z&3 5,500 5,500 0
= 0l & 5,500 5,500 0
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B NSH W MY Bo(YUBRBHE/NLHE - WENR)
Erol: Nl W MY ma CERT
A EY - SA(B) - NS - B (X o) ) DS
|| omex z4 maa 5,500
ST N 2el 92,153 46,751 45,402
201 et 12,320 2,160 10, 160
01 At 2teltl 6,560 2,160 4,400
= Ol & 6,560 2,160 4,400
OM2= SLDXA 2
52,000 30 A 1,560
OMEJE = =2 100& 20,0001 2,000
QA =2 80& x37,500A 3,000
02 22293l 5,760 0 5,760
= 0fl & 5,760 0 5,760
OJtA A ANAE RAEH|
480,000& «x12& 5,760
308 AXEHHMSO0IH 21,389 21,389 0
10 B2 SO0ICHeE & &S E A HI 21,389 21,389 0
= Off & 21,389 21,389 0
OMeA=dZ=208 S &2l 21,389
403 XXEHHSTH201H 58,444 23,202 35,242
02 ZBI|2SOICHE A2 X S| E A HI 58,444 23,202 35,242
= Off & 58,444 23,202 35,242
OXMO XEMA+=LHEANAH 2= 8
=a=1 58,444
HEFEOLH ZAF & S A 255,106 228,483 26,623
= 97,000
= 158, 106
IHE =0t XA 113,559 91,086 22,473
= 35,300
2 78,259
101 ol24d| 107,319 85,146 22,173
= 32,300
= 75,019
03 RIHAZZHE = 107,319 85, 146 22,173
= 32,300
i 75,019
= 0fl &F 107,319 85,146 22,173
= 32,300
= 75,019
OME &I ZA 22N 107,319
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SH-EH. O (AN) - NRANY - B (X o) ) HDE2

oJles 2,071,180& x3F 123 74,563
= 32,300
i 42,263
OAREAE 155,000 *x3H 123 5,580
oizs4 40,0003 *3H 123 1,440
Oo=3ed3 89,940,000 *4 . 5% 4,048
OAHLEH 89,940,000 *3.23% 2,906
O/IQLEH 2,905,000 *4 . 3% 125
Ong:d 89,940,000 *1.5% 1,350
ONMEE 89,940,000 *1.5% 1,350
OE&AZ 29,199,576 1/12*3Y 7,300
OY EF It 2,071,180 x60%*23] *x3H 7,457
O32%& IFUHYl 20,000 20| *3H 1,200

201 LBt 49| 2,240 2,240 0

01 At 2eltl 2,240 2,240 0

= 0l & 2,240 2,240 0

OMNEFEINAIAMN 228 &2 HE

70,000 x 16 A *23] 2,240

202 O Hl 4,000 3,700 300
= 3,000
= 1,000

01 WA 4,000 3,700 300
= 3,000
i 1,000

= 0l &F 4,000 3,700 300
= 3,000
= 1,000
OME=EIIA A 4,000
= 3,000
= 1,000

NEFeHIIA S (BX) 121,317 137,397 216,080
= 61,700
= 59,617

201  LBt249H| 121,317 137,397 216,080
= 61,700
= 59,617

01 At 2teltl 121,317 123,897 A 2,580
= 61,700
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SH W2 D
A T 2
el o 2

2e (£9: 62
SN HE B (BA) - MEAY - BHAS ggi) @(ijf;ﬁ% HRE2
01 =2UWAH 3,000 3,000
= 0l & 3,000 3,000 0
OZ2R A AENZ AN 04| 3,000
301 Bt M3 1,000 1,000 0
12 JIEIEAZ 1,000 1,000 0
= Ol & 1,000 1,000 0
OSSAIE=2 W& AlDZAZ 1,000
401 AEBIZL LY 20,000 20,000 0
01 Al&H| 20,000 20,000 0
= 0ff &F 20,000 20,000 0
OMAAE Z2wMME Ul 20,000
= Ar2tel 1,681,349 1,087,839 593,510
HAIR X 22l 1,622,413 1,032,390 590,023
101 ol 24 H| 168,417 159,840 8,577
04 JIZtH2Z2XNSE S 168,417 159,840 8,577
= 0ff &F 168,417 159, 840 8,577
OFAN L Alg22| 22 168,417
(OPIE=3=1 68,720& x250L x5 H 85,900
=5 Y X< 68,720 x64 L x5H 21,991
OANZt224+E
12,8853 *2 Al 2t %250 x5H 32,213
OBEgg=2 140, 104,000& * 12% 16,813
(@} ESE=, 1,900,000& x5H 9,500
[@ME=-1s]] 200,000& *23| x5H 2,000
201 282 A Y| 467,496 333,150 134,346
01 Atz 104,896 60,050 44,846
=0 104,896 60,050 44,846
OEt=ZH| 104,896
Oget=gH]| 30,000
OFASE(STAEE) 2 28,800
ORFID 282clAlAd SE(EH0)2 7,000
O =2 (M|, A s2D])
1,800,000& =128 21,600
OFXEHAIAE JtELLS
30,000& x12& 360
Oobltl sXiael 89 22,0003 x240H«12& 6,336
O2J/&8HD| X 249
50,000 =18CH = 12& 10,800
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%

M=o S (3H) - MEAY ggz::) @(E'f;ﬁ% =2
02 =249l 362,600 273,100 89,500
= 0l & 362,600 273,100 89,500

035322 % MA 248,000
O8IIe3 220,000
OB 2=2Ab | (A 4,000
OMGt=ER2= 24,000

OYWLEIAIAE S22 4.,500,000& *23| 9,000

OFANAIEZ S22 102,000
OFA 912 B U it 10,000
OFX2HAIAE X2

0,000& x12& 12,000
O A &= 22| 20,000
OJIEtAIE 2 7 A &2 60,000

ORFID S S22IAIAE S 3,600

401 AIEHIYL20i4] 777,000 514,000 263,000
01 Al&H| 777,000 510,000 267,000
= Ol & 777,000 510,000 267,000

OFA BZINHE A7 =2 250,000

O= AN == HI|&H & 80,000

OLZE FXUH2MAAE WA 130,000

O3FANEZ HIIEZE < 5,000,000 *x23] 10,000

OYLEAI AIE&AH ¥ 2] 80,000
SHEAAI B2 2 SHHMNE At 227,000
OnNds MNEg B+ ¢ 45,000
OdNH AlEdE2 &M & 87,000
O3stH 22X HIIIHEA 35,000
OMNEH HA sS4 2H=3A 20,000

S-H A 22E4 40,000
405 XA S 209,500 25,400 184,100
01 XML =SSFHSHI 209,500 25,400 184,100
= 0l & 209,500 25,400 184,100

o238 &JHE UM #¢ 120,000

O=2AI 2¢ 59,500

OLs: MXEHD 32l AlA 30,000

HA REENAE 22 58,936 55,449 3,487

101 o124 4| 52,936 49,449 3,487
04 JIZtHZ2ZXNSE > 52,936 49,449 3,487
= 0l & 52,936 49,449 3,487
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O THA L FHZ(LEIBISHEY /UL E)
o FH A2 (chg:®
2 s . 01 &t o B S 0] A o -
SN EHY O (3) - MSAY - BHES e e HRS2
OFAMN=XE 22| 22 52,936
oJlz=s 68,7203 x250 x2H 34,360
O % =Y 68,7203 x64 L «2H 8,797
(@)=R=-Ra=g= 43,157,000 = 12% 5,179
(@)= ESE=y 1,900,000& «2H 3,800
O =l 200,000& 23| *2H 800
201 2Et2IY| 6,000 6,000 0
01 At222lYl 6,000 6,000 0
= 0ff &F 6,000 6,000 0
O gEt=2H| 6,000
e 2el 521,350 701,480 A 180, 130
SEXtE 22| 521,350 701,480 A 180, 130
201 et 4g9Y| 236,350 285,200 A 48,850
01 At222lyl 18,000 13,800 4,200
= 0ff &F 18,000 13,800 4,200
o228 ¢ (s 2,000
OAMNREE 2L 2,000
O=ESE(2EXN) 2dx22 2,000
O38xd N2 SHE 600,000 12 7,200
O38 Xt M Xtbl 400,000& =128 4,800
02 =294l 218,350 269,400 251,050
= 0l &F 218,350 269,400 251,050
OXNsIEEZ 57,350
Oss(g ., 59 .48 38 . 00=2H)
400,000& «37CH 14,800
OSE(UE , 58,4 8) 600,000 =12CH 7,200
Ostg2(tg, 58 ,48) 450,000& «49CH 22,050
OsJ(8x=) 1,000,000 *1CH 1,000
OJIEtE = 450,000 = 18CH 8,100
O&F (A )Xl & 600,000 =7CH 4,200
O XS XA 20,700
OosE 300, 000& =37 CH 11,100
Os& 120, 000& +12CH 1,440
ostg 120, 000& *49CH 5,880
O3I(E=E) 120,000 *1CH 120
OJIEtSE = 120, 000& +18CH 2,160
O’ (THA) XH & 200,000 *7CH 0
oO38XY =44l 39,300
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